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MASTER OF ARTS (ECONOMICS) 

Term-End Examination 

02391 December, 2018 

MECE-001 : ECONOMETRIC METHODS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer any two questions from section-A. Answer 

any five questions from section-B. 

SECTION - A 

Answer any two questions from this section :2x20=40 

1. Consider the three-equation model 

013 Y3 4- )112 x2+ ul 

Y2'1321 Y1 +1323 Y3 + "Y21 xl "Y22 x 
y3 = ^y33 X3 + U3 

Where yi, y2 and y3 are endogenous, and xi, x2 

and x3 are exogenous variables. Discuss the 
identification of each of the equations of the model, 
based on order and rank conditions. 

2. Suppose in the regression model Yt = a + 13Xt + ut 
the error term ut = p ut _ + It where It—N (o, a12). 

What are the consequences if OLS method 
is applied to estimate a and 13 ? 
Suggest a procedure to estimate this model. 

(a) 

(b) 
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3. Explain the underlying ideas behind the linear 
probability model. What are the problems 
encountered in this model ? Explain how the 
profit model takes care of these problems ? 

4. What do you understand by heteroscedasticity ? 
What are the consequences of using OLS in the 
presence of heteroscedasticity ? Explain the 
Breusch - Paper test to detect it. 

SECTION - B 	 5x12=60 
Answer any five questions from this section : 

5. What is multicollinearity ? How is the problem 
of multicollinearity tackled in a data set ? 

6. Interpret the coefficient of determination (R2). 
Bring out the difference between R2 and adjusted 
R2. 

7. Explain the procedure of obtaining Generalised 
Least Squares estimators. 

8. Suppose you have a model xi = [31+132 x + u 
where the disturbance term satisfies the standard 
Gauss-Markov regression model assumptions. 
However, the variable x is subject to measurement 
error, being underestimated by a fixed amount a 
in all observations. 

Show that the OLS estimator of 132 will be biased 
downwards by an amount proportional to both 
a and [32. 
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9. (a) Write down the relationship between two 
variables in the form of a distributed lag 
model and auto regressive model. 

(b) VVhat is the difference between the two 
models ? 

(c) Which one of them can be estfirtated using 
the OLS method. 

(d) Name one method by which the other model 
can be estimated ? 

10. Wh.at is the use of the Chow test ? Describe the 
steps you would follow to apply the Chow test. 

11. VVhat is factor analysis ? How is it different from 
principal component analysis ? Discuss the 
concept of factor loading. 

12. Write short notes on the following : 

(a) Best Linear Unbiased Estimator (BLUE) 

(b) Two - stage least squares 
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7Ettaitt. -ooi 

( aratURa ) 
Tr-gta 71-1-gr 

qtitsii, 2018 

74.1:114.-an : antrrrra. faftgrl 
qAlq : 3 ri2- 	 37ftiw-diT afw : 

sTriT—W irc'Th.67# 30-d.*‘ drH cOr.tq 3th. 9/P-r-u# ch.67 

ew 50,11* dTi 	 

VT/T — 

Tff MITT 	 3rIt q1P7R : 

1. -p:r fq-kii-114,(ut iiiso 	rcraR Vf-AR : 
=1313 Y3 ± -Y12 x2 ±U1 

Y2=1321 Y1 +1323 Y3 ±)/21 X1 ± -Y22 x2 ± U2 
= "y33 X3 ± U3 

NoT Y2 *Y3 at* * xi, x2 *x3 .4rg7t-d 
t -g-r-* 	Hiso 	3TFITWT:rt, 

4.) e. Tal aTrtiR 	.wl-F-AR 

2. TP:ITT:P3T 
Yt= a + 13Xt+ut 

Ard Trq ut P ut— + 
Air 	(0, GrI2) 

(a) trfturrgr 	Trk air*----dw a * 
4.7F.74. tfiT 	 AR? 

(b) au-*-F9. 	Pei TIT4 	 

2x20=40 
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3. qchdf HIsci -3TRIR-k4 cile) f-4-4R1 Tr au 
-1-f--a-R -p4 Hiso 	t-I11-111 

	 Tif te? 	-14-111 	T9-T-4-iisri, •4-ff TfriRT311 

tt 7 ch(di t? 

4. clq1-1 	 3Trq 	 oral ocir 
1,1 Tft7r11- 4 A. 	farN 	malir trfturrq. 

	

T{T*1 	04i14 *1:t4N WT-ifiN (Breusch- 
Pagan) TiNTTIT 	 1 

%FIT - 13f 

	

%TT t 1W-4 	Mk•i* 	 : 	5x12=60 
5. V.tu-d-r otql t? 31-1-*71 kit=14 a§41(sidi 

-4 1,41-Fr 	t? 

6. fffqi714 TJTEW (R2) -4- oe.iltseif -Wif7R 1 R2* tiiii4irmcf 

R2 t on-cf 	afff{ 	d,3114it ""If--471 

7. cpcf 	 NT171 cht4 	chi 	FaRT 
auk *11---A7 

8. 'RN rilFzR 	aTitrk 	 = Ri + R2 
X + U 	fd.4-frl-T 1:g, 4-11•14) 	 TrgiNfzfuT 
31-4'4R-74 TfalZ chof t Tro-rr* -97 x Tr* -44.11:0 
▪ 4-11/I 	Iftz Piad a gRi a-mirwr-eff 	•A• 
• 4-fp-fri fe. ITT 	t 
-q7TrIR 132 	 TIM (amount) 
gi(1 al-4497 aitgsal- (biased downwards) *ITT 

ra, a at 132 ql 	* 	 
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9. 	(a) ei dcf TRW Ai 	so Az lzfff: 	iiTsc.i*W1 

-cl TtOt.T 	fafgfR I 

(b) 	WIT atd7 t? 

(c) -49 1-11.44 	rehti 1-115C1 -*1 311....itcr. fen t 

311*fed ralqi 	t? 

(d) rentil "RV fafti *T 9T1:1-WEITZ rAt4f 3TAT Niarr 

aimf-eff rchtif 	tiermi t? 

10. 7131). (Chow) TTN-TuT TT dt-141 	t? -qTat trften 

cht; Tr,r4zr 	qicif .*T 39*7171 eta? "41149 

WitAR I 

14)1(4) clk qui 4;ErT t? 3111Ti Ndch rqk(*:lui* Trg 

fiTR t?  	 WrrAll I 

12. Ti*r *zfargrq : 

(a) skizurr 	 arifim am-Kw (BLUE) 

(b) .44 
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